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Yuipn 1 k onp 9nip wuhly:

Zuplyunop & upuunhy vupu, 1 wiuunhy padul, wjumahl Guop:
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Uh$nit

Zupluynn k yjjuuwnhll nwupw, yjuuwnhl oho, nbnhuk jnpndul, ks ukpuplhg, 1

wjumuwnhl puduly:
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pudwlj ninhn nuk) Ynnpp:

2. 9nny 1gqws 2hop nuk) wuwjuinhly
wnwpuwjh ypue

3. ttnhlik funnndulh Uh Swypp
wdpwgul) tkpuplhsht:

4. [tkwnhut  junnpnduyh 2-py Swypp
dwnguk) poh dbe b ubnubny ukpwplhsp
ntnhub junnnyulp 1guk) opny:




5.Ukpuplhsp hnphgnuwfwb nhppny

wwhb] pudwljh Ypu: 7.4wnkutbp, np gnipp jgynud £ pudwlh

Uk wnwtg vhowdwnnipinit: Uju thnpdp
ynsynid k uhdni:

Puguwnpnipjniup >>

6. zuuk) nbnhuk funnndulyp tkpupyhsh
Ypuyhg b yuwhb] pwdwljh Jpu:




®npd 1.0.8
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wdpwgul) tkpuplhsht:
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np or} sdtiw upw Uky:
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ubnutiny thnpp ukpuiplhsp, hwdngyty,
nn ukpunid oy sjw: unpnduljh mqun

duyptt wdpwgul) thnpp tbpuplhsht:

6. Unugytg ks ni thnpp
ubkpuplhsitipny wdpugdwsé nknhuk
hunnnyul:

7. tuky opny 1gwd mwpwb uknuuht
wjuy by, np 2 ud nnipu dbw ubnuithg:
ULs ubpuplhsp wuwhb] nupugh tnwl:

8.Utnutny thnpp tkpwplhsp Yubkutkp,
nn opny (gyws nmwpwb pwupdpwind k:

Uw ubnudwt dhongny opwpwopuwljuie
pupdpugdwi Uh ophtiwl k:
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YJunutqub gpyuiuwhwwn

Zupyunp £ wjwunhly nwpw, jupnghl, wjwunhy 2hy" juthwphsng:
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5. Utnuk] 2hpop  hwbnwpunpku:

Yunbkutkp, np jupnghlp funpunuljynud k:
Bpt panubp ubtndbip , jupnghlp juljuh
[nqwy: - @npdp Ywupbih ko Yphuby”
oquuuugnpstiny wykih Uks oho:
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Lonugnn wdpuy

Zupiuynn £ yjuuwnhl nwupw, mdpul), yjuunhl yunwnwpun:

[ipugpnippnil “thnpdp sh unwgyh, bpl nwupub jud yunwunwpunp odwnnu
JRUkl:

1. Smpwt Yhuny swth 1guky) opny:

2. Ytub) wdpwljp wuwnwnwpwnh Yypu

14 BoX



3. twunwn b qgniyp Wuwnwnwpunp 5. Gpt nipunhp tuwgkp, inkubtp, np

hebgiily oph pu: wdpwyp 9pp tpbupt E:
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4. Muwnwnwpwnp qgnipnipjudp hwubl)

wudpwlh mwlhg b ophg: Yntkuukp, np
Ubinunu wdpwlyp dund £ oph Jpw b sh
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Yupn ' E wpmynp gnipl onhit wywhby:
Puguunpnipinib Nel

Utp Jypw ongh otpwup 100 Yu junpnipinit nitth: Qnipp Ythnpowphuh pudwlhg yiph
tnuwd 100 Yu onh okpwnpt: Onp phpl k pyniud, puyg 1004u pupdpnipjudp onh uywmb

dupnudp pudwljh Ypw pujuljwuht E: fFudwljh onipp wyt wwhby sh jupny:

Puguwnpnipinit Ne2

Thunwpytup  wjuwundwuwh dh funp' thopdp puguunpbine hwdwp: Ujunbn
wjyuundwuwgh Junph Jpu gnpsmud kb nhugh tbpph mnnws 2 mdtp oph Ynmquihg
hp Yonhtt hwjwuwp nid b wywundwuuwgh funph Jpu wqnnn Swbpnipjut nidn:
Uju 2 mdbph wqpbgnipyudp wjuundwuwgh Yunpp oph hbwn dhwuhtt tkpplh
pulutu: Uju wdkup mbnh sh mubkuw, kpk nidiphg dbju wqnbp wjuwundwuuwgh
Yunph Ypw nhwh Jip: Puswbu  dkup  ghwnkp, tplphg kpl onh pkpunp 100 Yu
pupdpnipinit nith b pnnp ninnmpnittpnyg dugnud E gnpdwunpnud tplyph  Jpu
qunuynn pninp wnwpluwubph Jpu: ZEnbwpwp, wyj wmgqnmud £ tub pwdwlh
quuynn yjuundwuwih Yunph ypu ubkpplihg b hpnid wyt phwyh Ep: Uju thopdp
ynsynid Eogh dupdwt nid:

dhpwnuntuw) thnpdht >>
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Uhdnt
Puigunpnipinii Nel

ZuJwbwpwp quplwiwih sk, np onipp phnptt junnndulnyg tbkppl E hnunid: Fpw
wuwwdwep oph Yohpt k Ujunwdbuwguhy, qupdwbwh Yhutp, Gpk onipp
Jupnnubtwp phnhubk junpnduynyg btwb Jbp pwpdpwbw) 9ohg: Uju wdbkup

wuwwdwnp oph hnupt E nknhubk jpnnnjulynd, npt £} pwonid £ onipp 9ohg: Uju Yhpy
wpuwwnnn uwpplphtt wbtdwunud tu uhynuubp:

Puguwunpnipinii Ne2

Qnipp nknpub junnnjuljny gpuyhunwughnt nidh sunphhy ubkppl k hotnid b jgynid
pwdwlh dbkg: Uppyniupnid nknphub junpnjulnid duonidp tjugnud £ b yuwngwn
nununid 9oph 2ohg pnipu qunit: Uju §hpy woppwwnnn vwppbphtt wudwtnud G
uhdnubp:
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2pwpuiphuurluit epkjury
Puguunpnipinib Nel

Bpp thnpp djunght niyh ubppl Bup ubnunid, opnmid Luponidt wmdnid k: Uju gupnid by
unhynud E JUkS ukpwplhsh dpjunghtt nbwh nmipu (dwlybpbu) owpddt;: Uks
ubkpwplhsh dpjungh owpdnidu k| wwwndwn k hwiunhuwbunid pbieh 4tp pwpdpug-
dwtip:

Puguwnpnipinit Ne2

Qpupuwopiwljuwt  JEpkjulp juquduws E 2 djungubphg, npntp dhwugdus bLu
funnnjuiny: Ujb jgqws £ dbpny ud gpny: Bpp ubnunud Eup thopp dungp, 9ph
duponidtt wgnid E: Uw Ef unhwynud E kS ukpwplhsh dunghtt niuyh nnipu (dwlkpbu)
owipdyty: Uks ukpwplhsh djungh owpdniudb ] wuwndwn E hwinhuwtnd pinh Jkp
pupdpugdwtn:

dhpwnuntuuw) thnpdht >>
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Yununbkuywb gpuyuiiwhun
Puguunpnipinib Nel

Onny gjws Ywpnghlu wykih phpl b pwl gpm] jgwdp: Gupnghlp jnynud &
wjupwlt dudwbwl, pwth phn |gjwsé E onny: Gpp dkup ubnunid Eup shop, onipp
1gynid £ upnghlh dbe b uybt dwtpwinud k: Bpp wjnbn puduljubiwswt onip k
1gynid, Jupnghlyp uniqynid E oph hwwnwlp: Uju thnpdp Ynsynid £ Gununbuywt

gpuyuiuwhwwn’ h yuwnhy $pwtiuhwgh thhihunthw, dwpbdwnhlynu b hqhlynu rEuk
Thjwpun nk Mhpnt Ywpwnbkuhniuh:

Puguunpnipinii Ne2

Qupnghlp juquuws £ ntnhuk dwp nibibtgnn wywljw jpnnndulhg, npp igws k
onny: 2nh jpnnipniut wybkh ks k, pwt jupnghlh Wniph dhohtt fuwnnipiniup, b
wjp wuwwndwnny b upnghlp nnnud E opnid: Bnjnp wpwplutbtpt b jnnnud B,
bpt mubkt wybtih thnpp fuunnipenil, pwt jupnghlh onipp:tpp dkup ubnunid tup
ohop, onipp dupdwdp 1gynid k fupnghlh dke: Ont wytnkn ubnuynud k: Lwtth gnipp
1gynud t Jupnghh Uk tpw unnipmibt wémd U uyh uniqmd b Bpp dbkip
wunhfwuwpwp pnyy) kup ubndnud 2oh wuwnbpht, 2omd ugnudp Wjugnid k, onp
Jwpnghlihg nnipu k dpynud b wytt hwynbynud E oph Gpkuhtt Uju thnpdp Ynsynid
Qununbtuywt qgpuuiwhwwn b wwwnhy dpwbuhwugh thhihunthw, dwpbdwnhlinu b
dhqhynu fFEuE FEYwpwn nk MEpnt Ywnnbkuhniuh:

9 Epununtw) thnpdht >>
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Lnnugnn pninpe
Puguunpnipinib Nel

Qnipp punugws b dwmtipugnyu dwuhlutnhg, npnup Ynsynid Eu Unjbynijukp: Uju
dwuthlubpp dgnud kb dhdjutig b oph Epbkuhtt unbnénud Bu vh wunbuwbih pupuly
otipwn, Jupstu ph dknp dknphg ppuws (huku: Gpt opklwnp, npp oph Ypw L, phpl L,
opitjunp nnuny dumud E oph Gphkuhtt U sh uniqynud: Uju Eplnypp Jupnn b
Uuunby oph UtS puyiph dkg b npnp dhgwwnubiph dhgngny, npntip Juipnn & puyiky
oph pur:

Puguinpmipinit Ne 2

Qnh Unjklnyubph dhol gnpénn EiEjunpuljut dgnpujutinipiniup tpw dwljbpbnypnp
nupdund E wyuwhuht, Jupstu pk wytt niuh Unjtynyutph pwpuly skpun: Uju
Epnypn Ynsynid £ dwlbplinypuyhtt jupduwénipinit: Gpp npbk wpwplw nunud Gup
onh Ypuw, wytt unynpuwpwp Ynwnpnd £ oph dnjtynyutph jupdwénipiniup: Fuyg, tpk
Uklp qgnionpku nunmd Gup wpwplwt oph Ypw, wyt Ywpnn b nnuy oph Jpu
Unwput wbtwp E (huh phpl, npybugh dnjthnyubph dhot dgnpuljut nidp
sqipmuquigh EEjunpuljub nidht: Uju bplnypnp upnn E ujundb) oph dké puy kph
Ut b Ukl mphp Upguintikph dhgngny, npntip upnn tu pwyily oph Ypu:

9 Epununtw) thnpdht >>
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